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x 1.0 1.3 1.6 1.9 2.2 

f(x) 0.7651977 0.6200860 0.4554022 0.2818186 0.1103623 

x 1.0 1.2 1.4 1.6 1.8 2.0 2.2 

f(x) 2.72 3.32 4.06 4.96 6.05 7.39 9.02 



 6 

i ii (3) 

  )   300x  310x  xlog 10

310x  (4) 

9.  )   xxe)x(f  1.0h  2.0h  )h(0 2

)0.2(f 

(3) 

 

     )   n nf , t t f (t) 3t)t(f 

2

1nn1n

h

)ff2f(  
 (2)

  )   1.0h  0y,1x   5.1x  yxy 

- (3) 

)    ,1,0k,0y4y4y k1k2k   1y0   6y1   

(2) 

10. ) 

2,1,0n,
N

x

x

N3
x6

8

1
x

3

n

n

n1n 









N

(4) 

   )   2x1,)x2()x(f 4  h

  610 (3)

  )   3  )x(f

3)x(f,2)x(f,2)x(f,1)x(f 1100   hxx 01  (3) 

x 0 0.25 0.5 0.75 1.0 

f(x) 1.0 0.9896 0.9587 0.9089 0.8415 

x 1.8 1.9 2.0 2.1 2.2 

f(x) 10.8894 12.7032 14.7781 17.1489 19.8550 


